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pen this test
ibooklet until you
lare asked to do
so.

PEC gﬁ:ﬁaw QUESTION BOOKLET

EATRIRNC

97 1

F57@ | Do not

| =921 / Time : 252/ Hours

or / Instructioris :

A U B A TR, FO A e IRahT iR SMEH.STR,

- H W IR ghifaa W R

- w3 e ol ol U, oI, ST Y HH e TEE

—;&qsﬁﬁw%mﬁwaﬁmﬁgﬁﬁ%aﬁ?wﬁgﬁmﬂﬁwgﬁa
|

ot oft RrinRy 3 Tt &, el @Y wew qfRT 3R ST R

I-U, T SR F T gia SIS Y R S T S
=R 1 olieT yRes 1) % uie freie S 39 dety o Rl «ff gr/emfa
R R T R S | gees o stvarelt SeRewE grm

Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and ensure
that:

- Serial number of Question Booklet(QB) and OMR Answer

Sheet is same.

- All-pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for
replacement of Question Booklet(QB) and OMR Answer

Sheet. No claim/objection in this regard will be entertained |

after five minutes of start of examination, candidate will be
liable for the same.

STHSTR -5 & T Ry @ uf Fdyr w& 1

Read all instructions on the reverse of OMR Answer Sheet.
SNCHR TRk TR Fefel Al siiel WEE I 1 FaNT L | FoT,
ST STR-T50F T 3191 Vet Ao 3TN 7 SRt Tel &1 9 o |
On OMR Answer Sheet, use blue ball point pen only. Please,
fill your Roll No. and other information correctly in OMR
Answer Sheet.

i oA % T 3t § LAl el v o T wn § erfes s sifRa
oM € 1 S0 T SR AT ST

All questions carry equal marks. If more than one response
is marked for a question, it would be treated as wrong answer.
Wi e ity ferkea/ el ¥ | e wIR fsre/iel A, B, © SR D
Iy STR § SEiftd ¥ o¥R ieat Berewien B ¢ ogaia v’ @
Gaiftr 1

Each question has five options/circles. First four options/
circles A, B, C and D are related to appropriate answer and
fifth option/circle ‘E’ is related to ‘Question not attempted’.
TE SR U & g sreefl @ o). 0H. TR, S-SR UR T ThR ue
T % Ue =R foeeed A, B, C =1 D H 9 et ©F fohea/met oy
et sifer wige U I 9 TeT | 9 el el weR 1 SR e &
e & A Wree foemed/iel ‘E Y TR R S

To indicate the correct answer, the candidate has to fill in
only one option/circle A, B, C or D with blue ball point pen
for respective question number on the OMR Answer Sheet.
If the candidate does not want to answer any question then
the fifth option/circle ‘E’ should be darkened.

af% uig fered o QS ot Rppea/iien wea &l Brar o & w5
1/39m 3t e T ST

1/3 part of the marks will be deducted for the questions,’ if
none of the option/circle optlons are darkened.
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Question Booklet Number

8. vl T ST KT U 3Fk =T 1/3 S SR SR | e .
SR AT YE IR AT B U o R SRR

1/3 part of the mark(s) of each question will be
deducted for each wrong answer. (A wrong
answer means an incorrect answer or more than -
one answers for any question).

9. 10 ufmm & atfes el § et off e et &
waﬁmm#ﬁ%mwﬁs@qﬁ&n%mm
=Nt s fam smem

If a candidate leaves more than 10 percent
questions or does not darken any of the five
options, he/she will be disqualified for the exam.

40. aTvzEl =) wedes U o oI e § W Uk fered/en
w7 =1 ) e e e % o 10 e arffem
o wmd
Candidate will be given 10 minutes extra to make
sure, if he/she has filled up any one option/circle
for each questions.

1. aﬁm%%ﬁmaﬁﬁrwﬁwmﬁm
wepf Y R oY TERR Y sTeTERd §, 1 SiuSh
GeheoT = Sifee T S |
If there is any sort of ambiguity / mistake either
of printing or factual in nature in Hindi or English
version of questions, then the English Version
will be treated as final. -

12, wlen g ¥ deEa wr/seRy T @ Rl e
TR o 1 SR T afsta ¥ | ol Rl st
% o U w8 viiefe gl o T sus faes

T HRATE T SIET |
" Use of Mobile Phone / Bluetooth Device or any
other electronic gadget in-the examination hall
is strictly prohibited. If any such prohibited
material is found with any candidate, strict action
will be taken against him/her as per rules.
rarery : 9 HE sreoell wenet S g IR ST R AT ST

T I G TRAT STRIT & A7 SR T SIS ST S

i ST € |1 Seh s g weH # U, oTE. SR, &S

STy S o T ST wden siffrm, 2022 SR ERie

stfufremt 2023, (it H sTafer STt 1 Ishem o sreguT)

¥ e geHl e % foig s g R 10 o

STTEA FRER o7 T 10 % T % SH 1 JEEE §1

QA1 1 Aoy @ wef gdemell § wEh v 9 fafh o

e T TeRaT ¥

Warning : If a candidate is found copying or using

unfair means or if any unauthorized material is found

in his/her possession, F.I.R will be lodged against him/
her in the Police Station and he/she would be liable
to be prosecuted under State Public Examination

(Measures for Preventions of Unfair Means in

Recruitment) Act. 2022 and Amendment Act 2023.

The act has provisions of imprisonment of 10 years

to life and fine up to ¥ 10 crore. Board may also debar

him/her permanently from all future examinations
conducted by the Board.

Fo7T0735( (om puddy) FHleq | gl
Zaz{g Dade 03-v% - 282y
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1~ Which King of Rajasthan was honoured with the title of “Vakpati’?

(A) Abhay Singh ~ (B) Pratap Singh 5  Which city of Rajasthan has been declared as UNESCO Heritage Site in the year 2019‘7

(C) Munja (D) Rao Jodha (A) Jaisalmer (B) Udaipur
(E) Question not attempted : Egg .gup u: tattermpted (D) Jodhpur
TRy uestion not attempte
([A')‘E”WRQEWW@ ﬁm‘*(;')“'mﬁ'ﬁ@ww? | T % F & T A, o 2019 7, qﬁwﬁwaﬁamﬁrﬁaﬁﬁww%?
(C) = D) T s @A) SEeR (B) vy
(B) orgafa e | | | ! © WF (D) sirerge
2 The Chairman of the Sixth Finance Commission of Rajasthan is - ) qﬁ :
(A) Dr. Jyoti Kiran Shukla (B) Shri Manik Chand Surana 6  Arundhati Chaudljgfy a well known player of Rajasthan, is assoc1ated w1th which sport?
(C) Dr. B. D. Kalla (D) Kunwar Pradyuman Singh (A) Shooting (B) Boxing
(E) Question not attempted ' (C) Hockey (D) Badminton
TSR T % ®3 forg aiier & oremer & &7 : (E) Question not attempted
&) w1, i e g S Wﬁmmmawﬁwﬁmwmawam%?
(©) =1 & & s (D) B weFRie | (A) Tl @ (a;&w | (B) bl
(B) ergaia we ' ‘ (C) =it (D) sfires
3 Arrange the following items in a chronological order : - (E) o3 gs:y
1. Adoption of first Industrial Policy Resolution. 7  The ancient name ,0f Ahad was: 3,
2. Implementation of New Economic Policy in India. (A) Dhulkat (B) Bairath
3.  Establishment of Planning Commission in India. , S (C) Aghatpur (D) Tamravati
4. Formation of National Institution for Transforming India. | (E) Question not attempted ’
5. Beginning of First Five Year Plan in India. ' HTES 1 GTEM AT 4:
frrrfoiaa emsdat t wwsrmgaR saftyd B¢ (A) gawd (B) s
1. "gw Sfenfies iy g @1 it | ‘ ' (C) swagR (D) arerl
2. WA ¥ 7% onfae N @1 st \ (E) erana 99
3. WA H T SN @RI . 8 Ratwai Folk Songg are sung in which region?
4. UG % WU % U TS G B TS| - (A) Hadoti (B): Mewar
5. WA ¥ wuw dEadia A e qre | (C) Mewati (D) Ramdi -
Choose the correct answer from the options given below : (E) Question no‘t attempted o
T Rg T Rt ¥ ¥ 99 SR @B w9 BT Prafafea & § 9. ¥ &5 § @A e T o ¥ o
(A) 3,2,4,1,5 | (B) 4,1,5,2,3 A) @R (B) #are
€ 1,3.5, 2.4 D) 1,23, 4,5 | © ¥ D) W
(E) Question not attempted / Sl 9 : : (E) eafa ’gﬁ
4  Moving average method is used for measurement of trend when - o I 9 wnh
. o ) ) ich protocol ;s: called most reliable? -
(A) Trend is linear (B) Trend is non-linear , (A) FTP : _ (B) UDP
(C) Trend is curvilinear ‘ (D) Trend is of any type , (C) POP (D) TCP
(E) Question not attempted ‘ : (E) Question n ot ttempted
W % 1 % forg R (ReE) wre il e s ReE o E At - 4 N ie s
| L BN W ot wee e et 37
(©) waft T @ (D) s fch 1w A | BN e
() smaRa w5 ‘ (C) 4 - . (D) 24
» | | (E) ogafa e
92COM-1] ) 2 | [ Contd... 92C0M-1] ») 3 [ Contd...
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If sum of squares of rank differences in marks of 5 students in Physics and Chemistry
is 15, then coefficient of rank correlation is -

ﬁsmﬁﬁﬁ%ﬁ%ﬁﬁwﬁaﬁﬁwﬁm%aﬂﬁmﬁ%wﬁmmwﬁ

o it wEawe Ui feaar rm ? |
A) 1.1 (B) 0.33
(©) 0.75 (D) 0.25

(E) Question not attempted / ST9=fa U9

Most suitable method of collecting data in cases where informants are literate and spread
over a vast area is :

(A) Mailed Questionnaire method
(C) Published sources

(E) Question not attempted
m@méﬁaﬁmm%‘fﬁﬁwwéaﬁﬁr&gqﬁ,aﬁaﬁﬁwmﬁ%fmmﬁvﬂaﬁ
fafer erm €l ?

(A) 3 g0 wsHrEe fafy
(C) vamifdra &

(E) eraia ued

(B) Direct interview
(D) Schedules sent through Enumerators

(B) wa& dreen o
(D) TR &R NS g fafy

A candidate obtained the following percentages of marks in the examination :
English 60, Hindi 75, Maths 63, Physics 59 and Chemistry 55.

Find the candidate’s weighted arithmetic mean if weights 1, 2, 1, 3, 3, respectively, are
allotted to the subjects.

T forndl % wlan & Frafalea wlisa siw o e

SN 60, =Y 75, wivia 63, W@ 59 &t w@ET 55

afe fowai & @A 1, 2, 1, 3, 3 @ 9R R @ @, Rendt e wiike e s s
(A) 60.5 (B) 61.5

(C) 635 (D) 64.5

(E) Question not attempted / aT=fa w9+

The number of possible samples of size n from a population of size N is -

N SR aredl e & 5 o & wufad wiygel (@uw) & der ¥

(A) N/n B) n/N
N1 : 100N
© nl(N —n)! (D) n

(E) Question not attempted / ST=fa 997

[ Contd...

‘Ceteris Paribus’ clause in the Law of Demand does NOT mean that :

14
(A) the price of commodity does not change.

(B) the price of commodity’s substitutes do not change.
(C) the income of the consumer does not change:

(D) the price of complementary goods does not change.
(E) Question not attempted

At & Fraw § i wiwa o ord 7@ & & ¢

(A) I B HEa Iqadl T8l §

(B) =g % wiaeantal & s € gael ¢ |

(C) wuviaT & o T8 gEer B

(D) T aRgeit B B T e T

(E) ergaf@ 9sq

15 The salary of a person was reduced by 20%. By what percentage his reduced salary be
raised so as to bring it at par with his original salary?

T Rt HT daq 20% =T e T 97| I9% 9 T IaT Bl fhad Wiasa Sern Wi 6 9%
qRATIes 9T % GO B WY 7

(A) 20 (B) 25

© 335 (D) 27

(E) Question not attempted / ST 997 F‘

16 An index number is at 100 in 2005. It rises 4 percent in 2006, falls 6 percent in 2007,
falls 4 percent in 2008 and rises 3 percent in 2009. Calculate the index number for
year 2008, taking 2007 as the base year. A
Ty 2005 ¥ gawiew 100 ¥1 2006 & 399 4 ufaera @ gig, 2007 ¥ 6 ufasa @ frrere, 2008
¥ 4 gfqe @ fcrae &k 2009 # 3 wfasta @ ghe st 31 9 2007 & SER ¥ AEA g
af 2008 &1 gambieh T HITI
(A) 95.5 ' (B) 93.85
(C) 94 (D) 96
(E) Question not attempted / SN U

92COM-1] »)- ' 5 [ Contd...
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Match List I with List II:

List I (Famous Place)‘ List II (City)

a. Badal Vilas Mahal” I. Jaipur
b. Mubarak Mahal =~ II. Kota
c.  Nehar Khan Ki Minar 1. Jodhpur
d. Mehrangarh Fort - IV. Jaisalmer
i 1 % wra g 11 & gafe T |
@ I (feg wmw) o g ()
a. 96w e Ta | 1. wER
b. HIR® & ‘ II. e
c. WEY @M @ WA I siregR
d. #EwTe fohe IV. SEa

Choose the correct answer from the options given below:

I Rg g feedl ¥ ¥ W ST B G99 B

(A) a-II, b-III, c-I, d-TV- (B) a-IV, b-I1, c-I, d-III
(C) a-IV, b-1, c-II, d-IIT (D) a-1V, b-II, ¢-III, d-1
(E) Question not attemlaied / iy usT

‘Oriental Research Institute’ is located in which city of Rajasthan?
(A) Jodhpur (B) Jaipur '

(C) Ajmer (D) Bikaner

(E) Question not attempted

e % e T d aﬁﬁqm fod shear Rug g7

(A) siEgR (B) s@AgY
(C) SR (D) SR
(B) orgaia 9ed

Match List T with List H

List I (Local Devi / Devtas) List I1 (Place of Blrth)

a Teja Ji - I. Kolu
b. Goga Ji o II.  Jodhpur
c.  Talli Nath ; III. Churu
d. Pabu lJi IV. Nagaur
Tt 1% ary ger 1 & gén%m Hfa: |

T 1 wﬁa%@t/ﬁ‘aﬂt‘) T 11 (= )
a. e Sl I @&
b. T S 1. SrEgR
c. TwEIY . &
d. ug s - ' IV. AFR

Choose the correct answ:er from the options given below:
ﬁ%%qmﬁ%ﬁﬁ@(ﬁﬁwwamaﬁm
(A) a-ll, b-I1, c-IV, d-1: (B) a-Il, b-II, -1V, d-1 :
(C) a-1V, b-1I1, c-II, d-I: (D) a-IV, b-11, c-111, d-I
(E) Question not attempted / SR U9

[ Contd...

20 Which of the following is NOT a transfer payment in the National Income Accounting?
(A) Interest on Government bonds held by Indians
(B) Drought relief payments
(C) Unemployment benefits
(D) Salaries of Supreme Court Judges
(E) Question not attempted
TS T W@ 9, 7 # W, B 91 s g a8 w7
(A) 9RAEl % I S W SIS §, S U &
(B) q@r T&d A
(C) ST wIw
(D) walem <™ & IR @ Ja|
(B) emgafa wed
21 In vital statistics, mid year population is calculated on -
(A) July 1 (B) August 1
(C) June 30 (D) July 30
(E) Question not attempted
STEa—oT |ifegas!  wew ey SEer Bt T He gy 7
(A) g 1 (B) e 1
(C) w17 30 (D) 9= 30
(B) organ@ usT
22 Match List I with List II : : :
List I (Types of Market) List II (Features)
a.  Perfect competition I.  Single seller
b.  Monopoly II. . Availability of close substitutes
c¢.  Monopolistic competition II. "Kink demand curve
d.  Oligopoly IV. Uniform price prevails
g 1 % e g 11 &1 gafed SR
o 1 (@i ¥ ) o 1 (Rasread)
a. gl wiqasl [ us fadkar
b. umeR | . e wwHa= @ Iuwsern
c. WamItHeml wfqeast 1. & = a%
d. ST IV. THEAE HEd ST
Choose the correct answer from the options given below:
e iy g faeedl § € @ ST @1 999 Hifeg ¢
(A) a-1V, b-II, c-III, d-1 (B) a-1V, b-1I1, c-1I, d-I
(C) a-1V, b-1, c-11, d-11I (D) a-1V, b-1, c-III, d-1I
(E) Question not attempted / STANRT U
92COM-1] ») ' 7 [ Contd...
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23 The aggregate index formula, using base period quantities, is called -
(A) Laspeyre’s Index (B) Fisher’s Ideal Index
(C) Bowley’s Index (D) Pasche’s Index . -
(E) Question not attempted
e NS JrEnel & YT B A Yo qasie tﬁltkrnwm%?
(A) @ETd gEHD (B) Ry emast Fga‘ma
(C) T=8A gaABH (D) WY gaBiH
(B) oraia ued . _
24 Mean of 10 observatlons is 20 and median is 15. If 6 is added to éach of the observation,
then find mode for new set of observations.
10 sTacres=! %1 91ed 20 % wifmest 15 ¥ afy ude sraied § 6‘6ﬁ‘sﬁmm T Y Sradm
% AT BT SgwD () T BT
(A) 36 (B) 15
(C) 11 (D) 26
(E) Question not attempted / sTgaRka e
25 Short-cut key combination to open Font dialog box in MS Word1s :
THUE. 98 ¥ B SN SE B . & MY aewe @ (key) SENH B A1 ¥ ?
(A) Ctrl + Shift + F (B) Ctrl + Shift + G
(C) Ctrl + Shift + L (D) Ctrl + Shift + V.
(E) Question not attempted / STfaid g7
26 Method of moving average is used for measurement of - =
(A) Trend (B) Seasonal Varla‘u(m
(C) Cyclic Variation (D) Irregular Varlatlon
(E) Question not attempted f
giwa (iamm) Aren fafy o suanr e 9o & fear St £ 7
(A) vafa (B) g aRedw
(C) = afad (D) s e
(BE) orgaia g :
27 Wthh National Park / Wildlife Sanctuary, is NOT paired correeﬂy?
(A) Ranthambore National Park - Sawai Madhopur
(B) Sariska Wildlife Sanctuary - Alwar
(C) Mukundara National Park - Bundi
(D) Keoladeo National Park - Bharatpur
(E) Question not attempted
ﬁwﬁiﬁgﬁmm/w@aawﬁ%ﬁqmgmaﬁmaﬂﬁ%?
(A) TR TEE IEE - A ATyl
(B) Wil o<1 S TR — 7eaX R
(©) wg=7 UL TN — 40
(D) hawed I SEE — WYY
(E) orana usd
92COM-1] ») 8 [ Contd...
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Which movement was led by Shri Vijay Singh Pathik?

(A) Shekhawati Andolan (B) Non-cooperation Movement
(C) Bijolia Kisan Andolan (D) Chipko Andolan

(E) Question not attempted o
Sy forerafie afie g1 B W ST AT Ty

(A) SrEmEREl STFEeT (B) oA ST=IEH
(D) fouet enige=
(B) srgaia us% B

What was the maﬁor objectwe of industrial promotion institutes in Rajasthan?
(A) To train neW entrepreneurs

B) To promot@« new industries -

(C) To help in-industrial produce distribution

(D) To provide finance to industrial units

(E) Question n@t attempted
Wﬁaﬁaﬁﬁmmﬁﬁmwuﬁ@ﬁmwm?
(A) @ SafEt. @l gl s

(B) U TEF & WEied B

©) ﬁlﬁlﬁmwéﬁmﬁmm

(D) et gmza‘r CARER AT T

(E) orgafd st

Calculate the Cost of living mdex in 2015 with 2010 as the base year :

Commodity Prlce ® per unit) Quantity Consumed
| 2010 | 2015 f
A 10 20 3
B {20 30 4
C 1 30 80 2 »
2010 & emER a¥ =M BT, 2015 ¥ Shew Frafe =@ gEwe s T e
(=) | (e 5 w3 H) (g A o )
1 2010 2015
A |10 20 | 3
B 20 30 4
C 30 80 2
(A) 100 B) 200
(€) 300 (D) 400

(E) Question not attempted / SN 99

e 9 [ Contd...
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A profit maximising firm will stop producing in the short-run, if the price is

(A) Less than average cost (B) Below the marginal cost

(C) Less than average variable cost (D) Equal to average cost

(E) Question not attempted

Ife HEa 3, A T ifuea @TH Sl B, mmﬁmmaﬁmﬁl
(A) evga @ @ (B) dmid @i 9 9

(C) ofga aY aFd 9 &9 (D) 3fEa @FT | & 93ET

(B) erpafa usA |

Study the following table and answer the question based on this information.

Number of gym members in 4 clubs during 4 given years :

GymClub / Year | 2015 | 2016 | 2017 | 2018
A 350 | 250 | 400 | 450
B 150 | 105 | 160 | 200
c 100 | 95 | 125 | 125
D 120 | 130 | 140 | 130

Assuming that a person can get enrolled in one club only, what is the total number of
persons enrolled in the year 2015?

meawmﬁﬁw%wwuaﬂwwﬁm
ﬁqw4aﬁ%aﬁm4w@rﬁﬁwaﬂaﬁm

5@ w@a /o | 2015 | 2016 | 2017 | 2018
A 350 | 250 | 400 | 450
B 150 | 105 | 160 | 200
C 100 95 125 | 125
D 120 | 130 | 140 | 130

ﬁqﬁﬁgqﬁﬁwwﬁﬁmwﬁmﬁqm@dﬁﬁmm% garsy fop av 2015 & o fopaw
AR W fREr o o ® defteReor fmar P

(A) 1450

(C) 825

(E) Question not attempted / aﬂ?rﬁ?r s

(B) 720
(D) 580

If m and n, are the sizes and X, X, are the respective means of two groups, then the
mean X of the combined group of size ny +n, is given by?

At < WET & MBI ST A HA: 1y AR 1y X ¥, X, &, W py o+ SER A G
WE W1 WY X 9T BRT 7

(A) mm(X+X7) (B) X)+X7

7 X +Xy mX|+mX

© - o
1+ m+m

(E) Question not attempted / sTgaRd e
[ Contd...
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(C) alIV, b1, ¢, d-II

Which Tiger Reserve, was declared as the country’s 5274 Tiger Reserve?

(A) Ranthambore National Park (B) Ranipur Tiger Reserve

(C) Guru-Ghasidas National Park (D) Ramgarh;\/ishdhari Tiger Reserve
(E) Question not attempted
ﬁmﬁﬁaé‘ﬁaﬁwwa@nﬁaﬁ%&rwﬂmmwmmw?

(A) Tt TS va (B) AR eER o

(©) To urer T TA (D) e fverd e ford

(E) SRR

In dlagrammatlc representation of data, sometimes false base line is drawn. Whlch of the
followmg is not correct about false base line? It is drawn -

(A) to avmd clumsy look of graph (B) to economlse space

(C) for magmfymg minor fluctuations (D) to calculaie median

(E) Question not attempted
a@é%m@ﬁwﬁm—wmaﬂm%@@ﬁﬁraﬁ%lwwwwaawa
¥ B W BT o ¥? 3 e T ¥ -
(A) T 71 AP w3 fre

(C) B Heas N TR F fre

(B) erpafta usd

(B) = s @ fog
(D) wifeaet Eﬁfqﬁ?ﬁﬁ? & B T

Match Lfst I with List II. .
List. I List IT .
Kabir of Rajasthan I.  Damodar Lal Vyas
Jalpari of Rajasthan II. Kishan Lal Soni
. Irom man of Rajasthan ’ II. Reema Dutta
~ Rail baba of Rajasthan IV. Dadu Dayal

a
b
C
d.
@I%Wﬁﬂiﬁ[ﬁﬁﬁml

T L i |
a. TR BT BAC T e W T—
b. RN Y STy Il frem @ G
. Weﬁf?ﬁgw II1. 'ﬁTIT'c'{i-ﬂ

Choose the correct answer from the opt10ns given below

%%qmﬁm&q‘rﬁ@faﬁwmw%q

A) a-II? b I, c-1, d-IV B) a- -111, b- IV c-II, d-I
‘ (D) a1V, b-IIL, c-IL, d-I
(E) Question not attempted / SaRa e '

[ Contd...
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If x denotes demand of an article and y denotes supply of same article, then x and y have -

(A) Positive correlation.
(C) No correlation.

(E) Question not attempted
aiq x fopelt g b1 =T qerar ¥ ofi y S awg @ eyl qwfer ¥, A x ol p A -
(A) &M TS Yeugy ¥ (B) %o HEEEY ¥

(C) wegsy T %) (D) amepe FEl BT Tehd |

(BE) orgafa us=

(B) Negative correlation.
(D) Can not predict.

Who was the first Dhrupad Singer of Rajasthan?

(A) Namrata Bhatt (B) Veena Sharma

(C) Shalini Kumari Tailang (D) Madhu Bhatt Tailang

(E) Question not attempted

TSTEI T Y99 U8 TS B o7 ? , '
(B) & gmi

(A) -Ham |
(C) suferl AT qetv (D) Wy wg AW
(E) orgafa wew

Stagflation refers to :

(A) High inflation in periods of high unemployment
(B) Deflation in periods of stagnant employment
(C) Deflation in periods of high unemployment

(D) High inflation in periods of full employment
(E) Question not attempted

whifer R fred waffa ¥ 7

(A) w= SO @ erafy ¥ Sea qErwit
(B) wiferrel TR @ arefy & sroeiify
(C) v AT & orafy F srqedify
(D) iﬂfﬂﬂﬂﬂaﬁaﬁfﬁﬁwgm@rﬁr
(E) organ@ usa

How many layers are in the OSI Model?

ot .o, itew ¥ Pra W ¥7

(A) 7 B) 3
(C) 4 ’ (D) 6
(E) Question not attempted / SaRa w9

[ Contd...
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Which of the following institutions are regulated by Reserve Bank of India as All India
Financial Institution?

1.  Export Import Bank of India

2. National Housing Bank

3.  State Bank of India
4.  Small Industries Development Bank of Indla

‘5. Central Bank of India

Choose the correct answer from the options given below :
(A) 1, 2 and 4 only (B) 3 and 5 only
(©) 1, 2,3 and 5 only (D) 1 and 2 only

(E) Question not attempted
P & Q, fe gl @ v Rord Yo e o g efew s i dwae o) a3

U famedl ¥ ¥ GE IO BT G DI
(A) Faw 1, 2 T 4 (B) Faw 3 o 5
(C)%F»‘clﬁl,Z,E»GﬂTS (D)WlaﬁTZ

(B) erai@ ued
Match List I with List II:

List I (Industries) :
State Woollen Mills 1.

7

List IT (Place)

a. Bharatpur
b. ACC Cement Factory II. Bikaner
¢.  Rajasthan State Chemical Works IH. Bundi (Lakheri)
d. Central India Machinery IV. Deedwana
‘ Manufacturing Company (CIMMCO)
gon [ & gty gar 11 &1 B s .

T 1 (sEm) T L (e
a.  Tog Sl T L 9@
b. TEA. (ACC) Gz % 1. ebrT
c. UM TSY J@EA HITEHT L. & ( ﬁﬂ@*&ﬁ)
d. = fewr 9l A=geEttn IV, dreamr

AT (CIMMCO)
Choose the correct answer from the options given below:
= few g fawedl ¥ ¥ W€ IO @ U BT
(A) a-ll, b-111, c-1V, d-1 (B) a-lll, b-1, c-IV, d-1I
(C) - a-l, b-1V, c-1I1, d-1 (D) a-1V, b-11, c¢-1I1, d-1
(E) Question not attempted / SR 997 ;

[ Contd...
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46

The total area of ‘Thar’ desert is :

A IR F HA GHA &

(A) 230254 kmz

(C) 238254. ]gm2 ‘

(E) Questiorinot attempted / srafa weT

In Life Table ”l is -

(A) Numbey Qf survivors at an exact age x
(B) Probability that an individual alive at an exact age x, w1l’b i
©) Number of deaths in that interval

(D) Total number of years lived beyond age x
(E) Questlcm not attempted

St areel &,/ € € -

(A) wfi x @ @ omg T SR @ G
(B) mxaéa%mweﬁi%rawgrwa% wmﬁa@sﬁﬁvm
(C) =¥ sy ¥ ga

(D) xﬁﬁ%ﬁ@%%ﬁﬁ?ﬁhﬁtﬁ%&ﬁ%ﬂﬁﬁ@ﬁm

(E) orafd s

An arrangement of statistical data in a chronological order in aeéerdance with its time of
occurrence is-called -

(A) Geomemc Series

(C) Time Séries

(E) Question not attempted
qifeesta aibet ®I bleihH eew, Waﬁﬁw%mwm%?

(B) 232364 km?
(D) 248254 km?

(B) Arithmetic Serfeﬁ
(D) Arithmetico - G’eometrlc Series

(A) 7ol g (B) @R gt
(€)@ ot (D) @i — gcrhw L
(E) orgaftd g

The firm’s d:emand curve and industry demand curve will be the same in a
(A) Compemlve market (B) Monopoly market

(C) Duopoly: market (D) Oligopoly market

(E) Question not attempted

foRelt &7 b AT o e SET HiT fra'(ms“ml“
(A) wigey’ R (B) Ui 9
(C) zaRm g (D) oreaiier S
(B) orafia us

47 Average daﬁy’ wages of all workers in a factory is T 444. If the average daily wages paid
to male and’ female are X 480 and ¥ 360, respectively, what is the percentage of male and
female worI{;e’rs employed by the factory. .
wﬁs&aﬁﬁmﬁmﬁaﬁﬁaﬁeﬂm%ﬁmm?%4%mﬁ:gﬂmﬁ?q&w®ﬁeﬁw%ﬁm
S AT X 480 3R T 360 &1, @ By & yow ik Afear wfafial o wRigrar @ar &9 ?
(A) 70%, 30% (B) 60%, 40%
(C) 80%, 20% (D) 65%, 35%
(E) Question not attempted / =i w9

[ Contd...
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48 Match List I with List II :

List 1 List II
a. Money multiplier I.  Money multiplier X initial deposits
b.  Total credit created II. Repurchase rate
. ' 1
c. Bank Rate . Reserve Ratio
Central Bank - IV. Banker’s Bank
q:rfr I % grg gar 11 @1 ﬁwrm HINTY
w1 @
a. W& TUH L 9 O X rRhwE SR
b. Fw Mfa @@ II. 93T &X
o 1
c. d& | A p—
d. w=a d® V. &t & 5%

Choose the correct answer from the options given below:

T feu o faeedl § @ 9€ SR @1 99 DI

(A) a-IV, b-I11, c-1, d-11 (B) a-, b1, ¢IIL, d-IV
(C) a-l, b-1, c-II, d-IV (D) a-lI, b-III, c-1V, d-11
(E) Question not attempted / START UL

49 Consider the following statements related to the Central Bank :
1. Qualitative credit control tools control the extent of money supply.
2. Credit creation is inversely related to Legal Reserve Ratio.
3. Time deposits have fixed period of maturity.
4. Credit creation is directly related to money multlpher
5.  The inter-bank deposits are the part of money supply.
Choose the correct answer from the options given below : :
(A) 1,5 and 4 only (B) 1,2, 3 and 4 only
- (C) 2 and 4 only (D) 1 and 5 only
(E) Question not attempted
"éea ¥ ¥ weifm fre woel W AR i
AT YT & AT/ By Torearger ane e swmeen g Fefa fear s g
g Frafo &y e emue ¥ wfoeifa & 9 d@&fia 8
arrafes s @ afgeEar @ fafyaa srafy €. #1
grg frmior ge1 o ¥ ue w9 9 SEiiE )
afaRdep ST TET YT 1 TH 9 Tl
e o o fameat & ¥ W2 T B AT BN ¢
(A) &aw 1, 58T 4 (B) &aw 1, 2, 3 8T 4
(C) waw 2 @R 4 (D) %ew 1 &R 5

(B) orgafa 9sd

92COM-1] 15
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50 In fitting a straight line by principle of least squares in Time serles value of the slope

remair»unchanged with change of the :

(A) Scale (B) Origin
(©) S?Eale and Origin ' (D) Axis
(E) Questlon not attempted

ﬁﬁwﬁm (Glﬂﬁﬂﬂd*-laﬁﬁl@'lﬁmﬁﬁm@ W%WQWW

Wmmw%?

(A) Yur (B) 7 forg
(C) Yurm ok 7w &g ' (D) &r&
(E) a%ﬂ‘frf’(a EEE] '

g

51 An efﬁectlve means of making the villages self»rehant in Rajasthfa:ﬁ
(A) Prgparatlon of rural oriented economic plans
(B) Expansion of Urbanisation

(C) Spread of Urban education o

(D) Rural unemployed gets job in cities

(E) Question not attempted
W”%ﬁﬁaﬁm@%ﬁrmﬁmuﬁm%:
(A) e afme enfie demmd s\

(B) sisﬁw CIRCININ

(C) =0 Rem &1 78w

(D) wrer SOSTIRE B0 SRkt A S Wi B

(B) aﬁ?rﬁ?f ERE

52 Which’ of the following is NOT a part of Eastern Plains?
(A) Kota (B) Ajmer
(©) lundi (D) Mount Abu

(E) Questlon not attempted

frrefafe & @ @@ @1 gat AET BT 9T @ § 7

(A) @ (B) &R
© - (D) W< ey
(E) @ﬂﬁﬁa R T

53 In t1me series, seasonal variation can occur over a span of :
(A) Very long term (B) Greater than 1 yea;r
(C) Less than a year _ (D) 7 to 9 years
€2)) Quesnon not attempted
ot Sl ¥ et ol B Rrar € e ¥
' (B) % a9 9 B

(A) vga @l Y q%
(C) s o ¥ B (D) 7% 9 o @b
(B) o @id 9sd

92COM-1] »)- . 16

54

55

56

Who prepared the dictionary of Rajasthani language?
A) Vijayci“;% Detha (B) Komal Kothari
(©) Kanha&yalal Sethia (D) Sitaram Lalas
(E) Questlg@ not attempted / | :

WWW&WSTW%&H&T?

(A) Fersraar, e (B) @ Bell
(©) as%ama Hr (D) ™ AwE

E) @aﬂﬁﬁ%};}rw

e x= e b m(ﬂi] ot B
@ 16 ®) 12
© 36 | D) 24

(E) Question not attempted / START U

Where was fhe capital of Rajasthan located earlier than Jalpur?
(A) Udalpm' - (B) Bikaner |
(C) Kota ? ‘ (D) Amer

(E) Questioh not attempted

W@f%ﬁwaﬁrw&ﬁweﬂ?

(A) wEEg] (B) dwrT
©) wr - , (D) &R
(B) ‘Gljﬂﬁﬁ EEE]
92COM-1] - 17 [ Contd...
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57 Match List I with List II :

58

92COM-1] »)- 18

List 1 | List I
a.  Behaviour of Marginal cost curve I.  L-shaped curve
under rrionopoly market. ’
b.  Behaviour of average fixed cost II.  Horizontal straight line
curve of a firm. (parallel to x-axis)
c.  Behaviour of indifference curve II. A rectangular hyperbola
~in case of complementary goods.
d.  Behaviour of marginal cost curve IV. Negatively sloped curve

under perfectly competitive market.

@I%m&gﬁﬁllwﬁaﬂm
T 1 T 11
a. @Ww%aﬁﬁatﬁﬁmm [.  L-3T &7 a9
b BT AT
b. Ty @1 ofma R @a @ II.  afasr el @ (x-318 & gHEiar)
% R ,
c. U IS P AWM H IIEN ab b1 11 SEars S
HAER

d. ol uiEr IR & ol @i IV, %o o el 9w
ArTd deh bl AT
Choose the correct answer from the options given below:

'ﬁ%%@mﬁmﬁﬁ%aﬁwwwaﬁﬁq:

(A) a-1V, b-II1, c-I, d-II
(C) a-ll, b-1V, c¢-II, d-1 ,
(E) Question not attempted / SaARd U9

(B) a-L, b-Il, c-II1, d-IV
(D) a-L, b-1V, c-1I, d-1II

Cattle fair continues to be organised in the memory of Tejaji at which place in Rajasthan?
(A) Tilwara (B) Assandh

(C) Parbatsar (D) Jalore

(E) Question not attempted
ﬁwﬁ%ﬁﬁw%ﬁmww%ﬁaﬁmﬁﬁsﬁﬁmmm%?

(A) foererst (B) &y
- (C) wEmET (D) SR
(BE) argaied e

[ Contd...
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60

61

62

(B) ergafa ued

A monopolist can charge higher price when it operates on

(A) The elastic part of a demand curve

(B) The inelastic part of a demand curve

(C) The constant elastic part of a demand curve

(D) Ignoring elasticity of demand altogether

(E) Question not attempted.
REalEEa WWmchwmﬂ%ﬂﬁﬁW%l
(A) Wi a% % @ A W )
(B) HIT @k % d@rEE /I

(C) @i a% & Rax @ I |

(D) wfT @ @ W Ul SUE B

(E) orgafta ws

In MS WORD key F12 opens :

(A) Save as dialog box

(C) Save dialog box

(E) Question not attempted

Ty g I8 ¥, Flza?r(key)ﬁwqaar%
(A) T TE SHAMT i

(C) T s Sied

(B) Open dialog bO&X
(D) Close dialog box

(B) afrq—«rgmawm
(D) w‘mwaﬁm

’ 211 ~
Three equal sized vessels have 332 milk respectively. Remaining portion is filled up

with water. Mixture is then poured into a big container. What ‘will be the ratio of milk
and water in that container?

SRR E I L aﬂ'{ %wga@rw%ua%gqmﬁﬁmm%iw

ﬁf&vﬁaﬁﬁﬁt@a%mﬁwm%la%mﬁq\aaﬁ?qﬁtwajmwm?
A) 1:1 B) 5:7
€) 7:5 (D) 2:5

(E) QueStion not attempted / TR W

According to the 2011 Census, the only Indian State, showmg decline in population
compared to the 2001 Census is -
(A) Goa

(C) Nagaland

(E) Question not attempted

2011 =Y STATAT & SIGER, STohell Wag Tog e 2001 &t WUTHT @ e H Srheen §

I (Frree) uE &, a8 & —

B) Maharashtra
(D) Kerala

(A) e (B) WeWrSg
(C) =rmeds (D) ¥«
(E) aqur&a EEE] ‘
92COM-1] »- ‘ 19 [ Contd...



63 Iftwo regression lines are perpendicular to each other and r is Karl Pearson’s coefficient
of correlation in bivariate distribution, then
uﬁammwmﬁaﬂrrﬁmwﬁmﬁaﬁwamé ar
A r=1 B) r=-1
©). r=0 D) r=x
(E) Question not attempted / AN U

64 Which is the short cut key combination for folder creation?

HeST B AT &b [T 9w Bl (key)mﬁa:rﬁww%?
(A) F, (B) Ctrl + C
©) Ctrl + Shift + N D) Ctrl

(E) Question not attempted / SANRT 97

65 ‘The Indraprastha Industrial Area’ is located in which city?
(A) Kota (B) Jaipur
(C) Jodhpur (D) Ajmer
(E) Question not attempted
freffae & @, fow et & sy olEifes & Rea 37
(A) @l (B) wEE
(C) hugy (D) s
(E) oraia ued

66 There is a high inverse association between the measures; ‘overweight’ and ‘life

~ expectancy’. A correlation coefficient consistent with the above statement is - :
‘St e’ (AIfHY) iR S wemem’ # 9o ufqa ey ¥ 39 %99 & gad A dedey
Ui T BT ¢
(A) r=0.85 B) »=0.10
(C) r=-0.10 (D) r=-0.85
(E) Question not attempted / ARG UL
67 Value of b in trend line y=a+ bx is -
(A) always positive (B) always negative
(C) always zero (D) can be both positive and negative
(E) Question not attempted
ygfa (SuAf) @, y=a+ bx ®, b & AF Bl & —
(A) T3 YATHD (B) 99 FHOH®B .
(C) @3= = (D) &¥TE% ST XS I €9 §
(B) orara ued

68 The class mid-points, in a frequency distribution of age, of a group of persons are 25, 32,
39, 46, 53 and 60. Then, what is the size of the class interval? .

Teh THE b I W, Y B araan anel §, @ & " f§g 25, 32, 39, 46, 53 i 60 ¥
T S BT AT FAT ST 7

(A) 5 ' ' B) 7

(C) 10 (D) 20

(E) Question not attempted / aRa U7

92COM-1] ») 20 [ Contd...

69 In which of the following cities the temple of Sansera Jal Devi Mataji is located‘7
(A) Ajmer (B) Jalore
(C) Rajsamand (D) Jodhpur
(E) Question not attempted
U oAl A %1 Atey Fratateg § § e TR 9 Rua §0

(A) e (B) SR
(C) TeEHR (D) whegT
(E) orgaia usd

70  If the relation between two variables x and y is 2x + 3y =7, and the median of y is 2, find
the median of x.

afy & Tl x X y | d@¥y 2x + 3y = 7%@[?)}3%141&2!35[2% v x & AT = B ?

(A) 2 )

<© 3 (D)
(E) Question not attempted / AR g

71 Where was Meerabai born?
(A) Merta (B) Chittorgarh
(C) Nagaur (D) Kurki
(E) Question not attempted ‘
AREE B S Hel ol A1 7?

(A) F=sar (B) RrisTe
(C) =i (D) Bt
(BE) srgafa usd

72  Which of the following is NOT an instant messaging service?
(A) Google Hangout - (B) Yahoo Messenger
(C) Facebook Messenger (D) Google Chrome
(E) Question not attempted ~ _

= o 9 & @ dipifee 9291 (HEW) Qar @ § 7

(A) TFE ESEE (B) ITE AGT
(C) %ugs FHR D) T aﬁw
(E) orana usd

73  “World Student Day” is celebrated on October 15, in the honour of :
(A) Dr. C. V. Raman (B) Dr. A. P. J. Abdul Kalam
(C) Albert Einstein (D) Barack Obama
(E) Question not attempted
e =afrer & M ¥, 15 eeR & “fasa v g’ & wu § W@ S § 7
(A) s 9L drn ™ (B) s w. 9. 9. 3/gA HAM
(C) UL amE=erE (D) s SN
(E) organd ued

92COM-1] ») ‘ 21 ~ [Contd...



74 When 0.1156 is converted into a fraction, the result is :

o 0.1156 @ uh o=t ¥ wRafda fear aman &, & ftom &
A) = i o B) =

1980 2500 £
©) 28 D) 0

25 £ : 9999
(E) Question ﬁ’ot attempted / AN U e

75 India has becon’ré; a preferred outsourcing destination because of
1. Ava1lab1ht§?;0f unskilled labour
2. Quality oﬂLI serv1ces
3. Avallablht%,‘of skilled labour
4. AvailabilitS} Vof labour at cheaper cost
5. Traditional'mode of communication K
Choose the corr@et answer from the options given below : ‘
(A) 1,2 and 3 only (B) 2,3 and 4 only
(C) 1and5 oﬂly (D) 3 and 5only
(E) Question méﬁ attempted .
%Wﬁmmmmwmwwww,k%?
2. A i B
3. sl s @ ST
4.  HF A ‘H SRl W IuT
5. HER % 9{ERE W
ﬁmwﬁmﬁéaﬁwwwaﬁﬁq: :
(A)WIZS%TB (B)%aazsaﬁm{
(©) %aw 1 95 (D) e 3 a5
(E) orgafe wet
[ Contd...
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76 Match List I with List II :
List I (Schemes) List IT (Objectives)
a. Raj-eGyan portal [.  Provide quality diagnostic services
b.  Meena March II.  Education through English medium in
backward block of the state
c.  Mukhyamantri Nishulk Janch III. Provide digital course material for
Yojana “students upto 12th standard
d. Swami Vivekananda Government  IV. Raise awareness among parents related
model school | to social issues
g 1% @ g 11 @ gfe AR
@ 1 (@) ‘ T 1 (S299)
a. US-35 9| | ' I oemgel Femee dad 9ed &
b. A | I 9 % fed gy ote & ol mem
B g fen
c. Hewds figws St giee 1ML wen 12 de o ferentda % fog fefrew arew
I WM BT
d. @Ml fqEwre TSt qisd IV. sifyares! ® amiae 50 9 deiia s
- S@H &
Choose the correct answer from the options given below:
A R T R ¥ ¥ W S w wE A
(A) a-ll, b-1I1, c-I, d-1V (B) a-Il, b-1V, c-1II, d-I
(C) a-l, b-1V, c-1, d-1I (D) a-1V, b-111, c-II, d-I
(E) Question not attempted / SFTaRa 97
77 When field of enquiry is small, the method employed for collection of data considering
accuracy, time and cost, is :
(A) Direct personal interview (B) Published sources
(C) Mailed questionnaire (D) Unpublished sources
(E) Question not attempted
Y g (IBATS) W1 & BT &, A ¥l Waﬂiwaﬁwﬁwﬁ@w—cﬁ%m
H @ fafy wm grire |
(A) vE =fRra e (B) wentidta &
(C) o & TS ugIEe (D) SrvehIyTE &
(B) srafa usw
92COM-1] » , 23 [ Contd...



81 The algebraic sum of deviations of the given set of observations from their arithmetic

78 Monolslohstlc lc%mpetl&)é will 1\1;)Iroducei 1111pt0 that (llazl% of output where _ . | mean is :
1. arginal Cost = Marginal Revenue . : \
2. Margmal Cost (< Ma?lrgmal I%evenue o ' ’ (A) Always zero (B) Always 11
3. MC > MR; after MC = MR i 1
4. MC is deéﬁeasmg © Always > (D) Always 10
5. Difference-between TC and TR is minimum - , (E) Question not attempted
Choose the cof“réct answer from the options given below : o ' foq TG sl % TEAR WeT ¥ oy ™ ﬁﬁrﬁ:ﬁ HT é’ﬁﬁv TRT BT %
(A) 1 and 4 only ' (B) 2 and 4 only ' (A) w& sfe:r : B) @ 1
(C). 1 and 3 Oﬂ*iy (D) 4 and 5 only
(E) Question ’ ot attempted , (C) w3 oo - (D) @wdg —
i Fad SU WX T SCEA B, STEl l E 10
1. dmia @ (MC) = i dwite / o (MR) (E) o we
2. AW @md < g g [ e 82 Match List I with List II : .
3. MC = MR'¥ a= MC > MR o S | List I List II
4, MC =z @ % | "~ a. Short cut key combination used I  Ctrl + D
5. TC @ TR ¥ ~gwa 3% & ' ~ to return to first slide during slide
ﬁ%%qnq%w@rﬁ%a@rmww%q : show _
(A) *e 1 o4 (B) %aw 2 34 b.  Short cut key combination used II. Cul+ N
(C) Faw 1 o3 (D) &ad 4 3T 5 - to change case of letters in
(B) organa 9 , PowerPoint.
79 What does question mark in MS PowerPoint Window represent? © Iéiyéffaigg S}é?lﬂliiiiecz{?;eltliitlon I Shift + Fy
(A) Title Bar” ' (B) Status Bar : p Poi % P
(C) Menu Box’ (D) Formatting Bar q SEWS"; omt |
= . ort cut combination used for IV. 1 + Enter
(E) Question bt attempted _ tine blank tation i - _
TH TH T méa Riet wX wywerae fag @@ viar ¥ 7 prealng. > ank presentation in .
(A) agz_ﬁ _GTR_ (B) _{%ZH TR s a(;)V\/el' oint Eﬁ
(C) &= (D) wIARsT 9] . el 1 % T e 1Ll geied i
(B) o wedt T 1 T 11
. ‘ a. msﬁ%aﬁ'{mqﬁrmw I. Cul+D
80 Match -LIS'[ I Wlth List II: . . | W % g aitdme @ (key) R |
List I (Book) ‘ List II (Writer) / v 1 -
{a). Eﬁ?&iigwm Bahubali Ras I.. Bhatt Sadashiv o b, et gz ¥ auit @ T () L Ctl+ N
. j-Raso . Gopinath ,
c. Raj Vinod: : III. Chandra Bardai W % g eméwe @ (Key)
d.  Granthraj-’ IV. Shalibhadra Suri o
T = c. 1L Shift + Fy
) . @G
a. WRAYER STESal T I oz waEmeE o . - d IV. 1+ Enter
b.  gHERE A I I '
c. U faAle . =% 9XEE , v
d.  UYTST o IV. smees g Choose the correct answer from the options given below:
Choose the cotttect answer from the options given below: o : TR Ru 7o el § 4 991 39T @ w9 BT .
e e g faeedt F § @ ST bt T Hif: (A) a-I, b-Il, c-IIL, d-IV (B) a-1V, b-III, c-II, d;L
%)) a- %x E ?I o1, d-II % a—%hb-é\lﬂl C-HII» (;1-11\1/ (C) a-IV, b-III, c-1, d-II (D) a-IV, b-I, c-III, d-JL:
a- a-II1, b-Il, c-I, d-
) Questlon Tot attempted ) N (E) Quest;lon not attempted / STFANG U
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85

83 Which pair is NOT matched correctly?
(A) Mahi Bajaj Sagar Project - Gujarat and Rajasthan
(B) Rana Pratap Sagar Project - Rajasthan and Punjab
(C) Vyas Project - Rajasthan, Punjab and Haryana
(D) Chambal Project - Rajasthan and Madhya Pradesh
(E) Question not attempted ‘
fretieiaa & @ @ @ g g€ g @ & 7
(A) HE IS WK G — e SR T
(B) 91 WA WY GRS — TSR SR USTe
(C) =ar| aREEHT — T, 49 i s
(D) ==« aiEer — e ST 95 Wy
(E) araika e
84 Index of health statistics of any country is best represented by decrease in :
(A) Infant Mortality Rate (B) Mortality Rate
(C) Crude Birth Rate - (D) Age Specific Death Rate
(E) Question not attempted
ol 2y @ wrea wife @1 Sfua gewis gera: f%waréaazﬁﬁwm%?
(A) fag 9g = B) TG
(C) ot w71 X (D) ey fafime g <X
(E) srafa usd
If 4:B:C=2:3:4, then value of \/2A2+9Bz+2C2 is :
e 4:B:C=2:3:4 %,?—ﬁ\/zA2+932+2C2 & JH BT S
(A) 24+B+C B) 4+2B+C
(©) 4+B+2C _ (D) 4+B+C
(E) Question not attempted / AR usT
86 The Chittorgarh fort was constructed by - v
(A) Raja Badan Singh (B) Chitrangad Mori
(C) Maharana Kumbha (D) Vijay Pal
(E) Question not attempted |
fiieTe &1 oo Reem seraman ?
(A) T SE e B) o= w4
(C) wHeROm G4 (D) fasg g
(BE) orgaRa wea ‘
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Read the correct statements. related to Net National Productivity.
1. At the time of rlslng prices, NNP at current prices is less than NNP at constant
prices. -
2. At the time ofirising prices, NNP at current prices is h1gher than NNP at constant
prices. L3 : <3y
3. NNP at current prices and NNP at constant prices are always same 1rrespect1ve of
change in priéés
4. NNP at current prices is equal to NNP at constant prlces at the time of stable
prices.
5. NNP at current prices can’t be equal to NNP at constant prlces
Choose the correct’ answer from the options given below : -
(A) 1 and 3 only (B) 2 only
(C) 2 and 4 only. (D) 4 and 5 only
(E) Question not: attempted
et gy Seatgebar % Hed H &l T wye ud)
1. wal % 9ed G9Y 9, ] Bl U Faw T S (NNP) ﬁa"cﬁma‘rarﬁﬁaaw@ﬁ
SR & B A B
2. aﬁﬂﬁrﬁqﬁg%w ] a9 e TR sar (NNP), ﬁmaﬁmﬁwﬁaﬁn@a
I ¥ o g ¥
3. wﬁwﬁwﬁwmfmm(NNP)awﬁmaﬁaﬁwﬁmu@ammNP)
Bl ¥ ghe & Fue g 99| T )
4. R FrEt FER W, WWWWT@HW(NNP)WWWWW
FarE (NNP), % ST € &1
5. WWWWT@HW (NNP), WWWWWW(NNP)%W
e &l ehall|
A g o fredt ¥ & w8 oW @ T ﬁ%aq
(A) e 1 a3 (B) e 2
(C) ¥aw 2 8w 4. D) Fa@ 485
(B) orgaiia wed
88 For the year 2022*23 who was awarded the ‘Suryamal Mishran Shrkhar Puraskar’ by the
Rajasthan Language Literature and Culture Academy? - it
(A) Madhu Acharya ‘Ashawadi’ (B) Nand Bhardwaj
(C) Mangat Badal: (D) Shivraj Chhangam
(E) Question not- attempted -
af 2022-23 % oy, T s, atfee oir dephy azamﬁmﬁs@f e
¥ wehr Rear Tr?
(A) WY aaswﬁ (B) & wramst
(C) #m@ w’e (D) BrEws g
(B) or=id wed
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- (C) Full employment equilibrium

What will be coefficient of range for the following distribution?
Age(inyears) |16—20 | 21-25 26-30 31235
No. of Persons 15 10 27 8
frrfefaa §e7 & fQ g Turie @ s ?

g (@ 4) |16-20 | 21-25 | 2630 | 31-35
et @ @ | 15 10 27 8

(A) 0.5 | (B) 0.37
(C) 0.39 (D) 0.4
(E) Question not attempted / STIANRT LT

The difference by which actual aggregate demand exceeds the aggregate demand required
to establish full employment equilibrium, is known as

(A) Inflationary gap (B) Deflationary gap

(D) Under employment equilibrium

(E) Question not attempted
¥ 9% W 5, S99 HEd 5

(A) T s (B) STaERifet Sfaua
(€) ot TsTIe Hger (D) 37 AT Hger
(B) eorafd wed

For certain X and Y series, the two lines of regression are :
5x — 6y + 90 = 0 and

15x — 8 - 130 =0

What will be the mean of X series?

X &t Y 9ol &t &1 gforme @] §

5x — 6y + 90 = 0 3%

15x — 8y — 130 = 0 &)

X 9oft &1 wieT ®: , ,
(A) 35 (B) 20
©) 25 (D) 30

(E) Question not attempted / St e

Which unit of computer performs all sort of calculations?
(A) ALU B) CU

(C) RAM (D) ROM

(E) Question not attempted

HYST B B 1 gH1e T UBR & qide bl &7

(A) Tuayg - B) @Y
(C) R T wa () (D) & st T (IM)
(E) rgaia wed |
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93 Which of the following is a measure of central tendency?
(B) Width of class interval
(D) Cumulative frequency

94

95

(A) Range
(C) Mean

(E) Question not attempted
e A ¥ BF W g & A9 7

(A) ™
(C) =

(B) oraia ued

(B) = sfro Y et
(D) Gl SrEran

While tabulating the data, class limits should be chosen in such a manner that :-

(A) Observations are concentrated at the mid points of the classes.
(B) Observations are scattered throughout the classes.
(C) Observations are concentrated at extreme points of the classes.

D) It

can be chosen in any way.

(E) Question not attempted

MBS B GRS B T, I drorel &1 a9 59 YhIK BT sy arp i—

(A) et ot % ey fgel o Hwa @)
(B) oradiea wqel vt F fawy gu )

(C) wrE@enT oM & oxw fagen X e |
(D) frdr ot adi 9 Tg= fopam <1 wapar B
(B) orgafa usd

Use given percentile curve to find percentile equivalent to mark x=359.5.

feq Mo wfasrae (vEeEw) 9% A fw x=59.5 ¥ gw ufaeas s Sl

)
S8~

o0
==
T T T

o~

of ¥ &9 ufistd - P
[ W
[=] [

W B
=4
T—r———

PERCENTILE CURVE
\ PIREIREACED

PERCENTAGE LESS THAN ¢/ - P

(A) 100 ‘ | (B) 40
(C) 85 (D) 75

E) Q

92COM-1 |
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Match List I with List II :

List I List 1T
a. Income received from property and 1.  Depreciation reserve funds
| entrepreneurship -
b.  An annual all&wance for wear ~  II. Value addition

and tear of ai@apital Goods
¢.  Unforeseen oBSolescence of III. Operating surplus

fixed assets durlng production

d. Excess in value of output over IV. Capital loss
value of intermediate consumption

g 1% @ g 1 & gifi IR
cL0 SR T I

o  SEftEr o Wi @ WTE e I wew o My
i 9=

c. TAEA & AW Rl ufeetadt o 1L wEeE eire

d. weEdl SUNN % ed OX @ b1 IV. Oou Ei

Choose the correctfflafnswer from the options given below:

W R o Rt ¥ ¥ TR X @ T HT

(A) a-l, b-II, c-I1I, d-IV (B) a-1V, b-111, c-11, d-1
(C) a-Il, b-IV, ¢, d-II (D) a-IIL b-I, c-1V, d-II
(E) Question not attempted / STANRT e

Which woman recéri,ved the Nobel Prize twice for her contributions?
(A) Mother Teres,e{i{' (B) Malala Yousafzai
(C) Madame Marie Curie (D) Shirin Ebadi

(E) Question not attempted

Y e % RG, R S AR Y@ W B Il Aker ¥ -

(A) wEx @ (B) W@ gYHIs
(C) #ew a4 wH (D) R Tardy
(B) orpaia usd
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In a data entry office, computer centres are on 15t and 5t floor. Both the centres are
connected through LAN. Signals take time for these floors. Which hardware can improve
the data transmission?

(A) Modem

(C) Router

(E) Question not attempted

(B) Repeater
" (D) Computer

U ST U enfhg ¥, T b Ueell ofik uiwdl wive ux ¥1 O v A9 (CARUT) ¥ 9

g1 dwal (Rr=ier) @t 37 Afel @ S H 999 @ 81 B 91 SIS guNel § g
g &7 | ’ | |

(A) HiEH (B) frdrex
() X (D) &g
(B) erpafa wew

Choose the incorrect statement for the reason to prefer sampling method instead of census
method. ‘

(A) More cost and time are required for census.

(B) Migration of population.

(C) Census method is not realistic.

(D) In cases where size of population is very large.

(E) Question not attempted

ST fafy wr eden ufaestt faftr ot wraftesar 39 & @t ®, = § 9, o U &1 wad
BT - , ‘

(A) ST o erfye wHY oY o @Y BT S|

(B) wEET H1 W ¥Edd @Al

(C) wworn fafr v =@t 31

(D) TE WA U Rl e 95 e

(E) srgafa usw

Which of the following statements is NOT correct for Index Numbers?
(A) They help in studying Trends and Tendencies. ‘
(B) They are not used for deflation.

(C) They help in formulating decisions and policies.

(D) They measure the purchasing power of money.

(E) Question not attempted

Yuhie & g, 771 & 9, &9 1 $99 g T8 &7

(A) = ygfaai o IuARTl &1 oTeaaT & & UER% & ¢

(B) wemr sruEhifa & fag v A€ fman e #)

(O) o Foil ok ifert &t Frefia s o wers g9 ¥

(D) o syar-dar & wF iR B WIS T

(B) erpafta wew
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